JdT1yeT: NMeparory no npeameTy

>enoB AnekcaHap EesreHbeBuy, 2017/2018 yyebHbIn roa, Pusuyeckasn KynsTypa

) : o i YcnesaemocTb Coeannit | % Z/gq ggl-;l
nal Ll PRaoRhSSR | | atap i bitenn :/ OCB |34 | H3 ;*S;Hm Gann | yones. | 17| o)

1-a yeTBepTb | 25 25 |0 0|0 0|0 0 [0 |0 50 100,0 [100,0 | 100,

2-5 yeTBepThb | 26 26 |0 0 |0 010 0 |0 |0 5,0 100,0 | 100,0 | 100,(

5-8 3-51 YeTBEpPTL | 26 21 5 0 |0 0|0 D [0 |O 4 .81 100,0 |100,0 | 93,0¢
4-1 yeTBEpPTL | 26 25 |1 0 |0 0|0 0 |0 |O 4,96 100,0 |100,0 | 98,6

lon 26 26 |0 0 |0 0|0 0 |0 |O 50 100,0 | 100,0 | 100,(

1-9 yeTBepTb | 27 26 1 0 |0 0|0 0 |0 0 4,96 100,0 | 100,0 | 98,6°

2-7 vYeTBepTb | 26 17 |9 0|0 0|0 0 (0 |0 4,65 100,0 |{100,0 | 87,5¢

5-r 3-a veTBepTb | 25 10 |15 |0 |0 010 0 [0 |0 4.4 100,0 [100,0 | 78,4(
4-a yeTBepThb | 25 19 |6 0 |0 0|0 0 (0 |0 4,76 100,0 | 100,0 | 91,3¢

lon 25 22 |3 0 |0 0|0 0 |0 [0 4,88 100,0 | 100,0 | 95,6¢

1-a yeTBepTL | 27 25 |2 0 |0 0 (0 0 |0 0 4,93 100,0 | 100,0 | 97,3

2-51 yeTBepTL | 27 23 |4 0 |0 010 0 |0 |0 4,85 100,0 | 100,0 | 94,6°

3-a 3-a yeTBepTh | 28 10 (18 |0 |O 010 0 [0 (O 4,36 100,0 | 100,0 | 76,8¢
4-5 vyeTBepTh | 28 24 |4 0 |0 010 0 [0 |O 4,86 100,0 | 100,0 | 94,8t

lon 28 24 |4 0 |0 010 0 (0 |0 4,86 100,0 | 100,0 | 94,8¢

1-a yeTsepThb | 28 23 |5 0 |0 0|0 0 |0 |O 4,82 100,0 | 100,0 | 93,5

2-a vyeTBepTb | 28 24 |4 0 |0 0|0 0 (0 |0 4,86 100,0 | 100,0 | 94,8¢

3-b 3- veTBepTL | 28 26 |2 0 [0 0|0 0 |0 |0 4,93 100,0 | 100,0 | 97,4:
4-1 yeTBepTb | 28 22 |6 0 |0 010 0 |0 |0 479 100,0 [100,0 | 92,2¢

roa 28 26 |2 0 |0 0 |0 0 (0 (O 4,93 100,0 | 100,0 | 97,4:

1-5 yeTeepTs | 26 23 |3 0 |0 0|0 0 (0 |0 4,88 100,0 | 100,0 | 95,8!

2-a vyetgepTs | 26 17 |9 0 |0 0|0 0 |0 |O 4,65 100,0 | 100,0 | 87,5¢

3-8 3-a yeTBepTb | 26 13 |13 |0 |0 0|0 0 |0 |O 4,5 100,0 | 100,0 | 82,0t
4-5 yeTBEpTh | 26 1 143 2 |0 0]0 0 |0 |0 4,35 100,0 | 92,31 | 77,0¢

log 26 19 |7 0 |0 010 0 (0 |0 4,73 100,0 | 100,0 | 90,3

1-51 YeTBEpTL | 25 19 |6 0 |0 0|0 0 (0 |0 4,76 100,0 | 100,0 | 91,3¢

2-7 YeTBepTb | 25 16 |9 0 |0 0|0 0 (0 (O 4,64 100,0 |100,0 | 87,0«

§-r 3- vyeTBepTL | 26 13 |13 |0 |0 0|0 0O (0 |O 45 100,0 | 100,0 | 82,0(
4-a yeTBEpThL | 26 13 |13 |0 |0 0|0 0 |0 |O 4,5 100,0 | 100,0 | 82,0

lon 26 20 |6 0 |0 0|0 0 |0 (O 4,77 100,0 | 100,0 | 91,6¢

1-n cemecTp | 12 12 |0 0 |0 010 0O |0 |0 5,0 100,0 [ 100,0 | 100,(

3)—8 2-ih cemectp |12 8 4 0 |0 0|0 0 [0 |O 4,67 100,0 | 100,0 | 88,0(
log 12 12 |0 0 |0 010 0 (0 [0 50 100,0 | 100,0 [ 100,

1-a 1-n cemectp | 12 " |1 0 |0 0|0 0 (0 (O 4,92 100,0 | 100,0 | 97,0(

EETB 2-i cemecTp | 12 12 |0 0 |0 0|0 0 (0 |O 5,0 100,0 | 100,0 | 100,(
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